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  1 

 

 

a)  56 ÷ 7 = k)  (6 + 3) x 2 = 

b)  46 x 10 = l)  2 + 5 x 3 = 

c)  850 ÷ 10 = m)  14 927 + 74 959 = 

d)  804 x 9 = n)  25 061 – 19 290 = 

e)  876 ÷ 6 = o)  67 – 18 + ...... = 67 

f)  

 
p)  

3

7
 + 

4

7
 – 

6

7
 = 

g)  

 
 <   of   >   of   = 

h)  

 
q)  548 123    ..........   548 321 

i)  
3

5
 x 45 = r)  

3

5
   ..........   

3

4
 

j)  2
1

5
 + 3

4

5
 = s)  2 𝑙 .......... 375 𝑚𝑙 

 

6; 12; 18;_____; _____; _____ ; _____ ; _____ ; _____; _____ 

124 676;  126 676;  128 676;  ____________  ; ____________ 
 
 



  2 

 

 

a)  72 ÷ 8 = k)  16 ÷ 4 x 2 =  

b)  8 756 ÷ 2 = l)  24 ÷ (8 – 2) = 

c)  38 x 100 = m)  31 488 + 62 174 = 

d)  556 ÷ 7 = n)  50 037 – 28 667 = 

e)  791 x 9 = o)  85 – 8 = 93 –  ......  

f)  

 
p)  

7

8
 – 

4

8
 + 

6

8
 = 

g)  

 

q)  16 𝑙 = ................................... 𝑚𝑙 

h)  

 

r)  32 000 𝑔 = ........................... 𝑘𝑔 

i)  
4

5
 x 150 = s)  780 𝑚𝑚 = ........................... 𝑐𝑚 

j)  1
3

6
 – 

4

6
 = t)  

1

2
 𝑘𝑚 = .................................. 𝑚 

 

7; 14; 21;_____ ; _____ ; _____ ; _____ ; _____ ; _____; _____ 

982 134;  982 143;  982 152; _____________ ; _____________ 
 
 
 



  3 

 

 

a)  11 x 11 = k)  9 + 18 ÷ 3 = 

b)  48 ÷ 6 = l)  5 x (16 – 4) = 

c)  81 ÷ 9 = m)  26 330 + 53 067 = 

d)  9 300 ÷ 100 = n)  53 619 – 23 081 = 

e)  518 x 10 = o)  ...... – 29 = 54 ÷ 9 

f)  608 ÷ 8 = p)  
5

6
 x 72 = 

g)  542 x 7 = q)  
6

9
 + 

6

9
 – 

7

9
 = 

h)  

 

r)  3
2

7
 + 1

4

7
 – 2 = 

i)  

 
s)  

 j)  

 

 

 

8; 16; 24; _____; _____; _____; _____; _____ ; _____; _____ 

497 871;   _______________  ;  _______________ ;   497 901 
 
 



  4 

 

 

a)  96 ÷ 12 = k)  10 – 2 x 3 = 

b)  340 ÷ 10 = l)  24 – 4 x 3 ÷ 6 = 

c)  9 x 10 000 = m)  48 641 + 41 836 = 

d)  980 ÷ 4 = n)  61 707 – 46 308 = 

e)  317 x 3 = o)  46 – ...... = 46 

f)  

 
p)  

7

11
 + 

6

11
 – 

4

11
 = 

g)  

 
 <   of  >   of   = 

h)  

 
q)  909 090    ..........   909 009 

i)  
3

7
 x 49 =  r)  1   ..........   

3

8
 

j)  4
3

8
 – 1

5

8
 = s)  9 005 𝑔 .......... 9

1

2
 𝑘𝑔 

 

9; 18; 27; _____; _____; _____; _____; _____ ; _____ ; _____ 

575 893;  575 886;  575 879; ____________  ;  ____________ 
 
 



  5 

 

 

a)  84 ÷ 7 = k)  5 x 2 – 1 + 3 = 

b)  4 x 100 000 = l)  6 + 2 x 4 – 1 = 

c)  8 700 ÷ 100 = m)  65 759 + 39 218 = 

d)  147 x 65 = n)  80 361 – 13 378 = 

e)  785 ÷ 9 = o)  78 – ...... – 16 = 29 

f)  

 
p)  3

3

9
 + 1

2

9
 – 2

1

9
 = 

g)  

 

q)  4 000 𝑙 = ........................... 𝑘𝑙 

h)  

 

r)  2
1

2
 𝑘𝑔 = .............................. 𝑔 

i)  
3

8
 x 64 = s)  6700 𝑐𝑚 = ........................ 𝑚 

j)  
11

12
 – 

9

12
 + 

2

12
 = t)  503 𝑐𝑚 = ....................... 𝑚𝑚 

 

12; 24; 36;_____; _____; _____; _____; _____; _____ ; _____ 

706 000;  706 250;  706 500;  ____________ ;  ____________ 
 
 



  6 

 

 

a)  
 

8 x 8 = l)  (20 – 14) + 60 ÷ 5 = 

b)  
 

36 ÷ 6 = m)  14 – 8 x (3 – 3) = 

c)  
 

121 ÷ 11 = n)  50 295 + 25 385 = 

d)  
 

69 x 100 = o)  98 180 – 75 522 = 

e)  
 

17 564 ÷ 2 = p)  57 + 9 = ...... – 35 

f)  
 

835 x 16 = q)  R33,14 + R64,88 = 

g)  
 

759 ÷ 12 = r)  R24,76 – R7,60 = 

h)  

 

 
s)  3

5

11
 – 2

6

11
 = 

i)  

 

 
t)  

9

10
 – 

4

10
 + 

3

10
 = 

j)  
 

 

u)  

 k)  
 2

9
 x 36 =  

 

664 825;    _______________ ;   _______________  ;  664 525 
 



  7 

 

 

a)  64 ÷ 8 = l)  10 + 3 x 8 – 8 ÷ 2 = 

b)  683 x 100 = m)  (56 ÷ 8) + 6 x 6 = 

c)  9 000 ÷ 10 = n)  72 504 + 10 790 = 

d)  239 x 48 = o)  32 234 – 30 846 = 

e)  936 ÷ 13 = p)  83 + ...... – 15 = 83 

f)  

 
q)  R23,45 + R49,24 = 

g)  

 
r)  R66,47 – R39,39 = 

h)  

 
 <   of   >   of   = 

i)  
4

7
 x 63 = s)  376T    ..........   37H 

j)  2
5

8
 – 1

1

4
 = t)  

𝟕

𝟖
   ..........   

𝟕

𝟗
 

k)  
11

12
 – 

3

4
 = u)  4 𝑚 .......... 40 𝑐𝑚 

 

692 386;  692 397;  692 408; ____________  ;  ____________ 


